1. Geuct (A) srer (R) a1 AsRa 8. ARN [Asa wie 5 dia oA ealen yvor vaor 21 :
(Geuct (A) : Na e&ug Gur sdlRat (Cl,) argeil uf5an adi oicid NaCl ool zewil &la 8.
srel (R) : e s Nat i CI” et oiad anes yel sél 2emRil 2iave NaCl otend 8.
(A) A 21 R oid 2l 8. B4l sk R [Qa AL il andl »ud 6.
B) A x4 R i1 il 6, uig sra R [@Qu A el augdl 2uug .
(C) A a3 8, uig R wig ©.
(D) A i1 R 6id w2l .

qaiet (A) A 4 R eld 2l 8. %4l s R [@Qad AL el asadl »ul 6.

Na + Cl — NaCl

(2,81 (2,87 (2, 8)
(2, 8, 8

2. Geuct (A) srer (R) a1 Asa 8. ARD [Asa wie 5A dia oA ealen yvor vaor 21 :
(Genct (A) : NHy 319l H,Ocll 32221 u2nieil sp3 2isze1 & 8. d vet H-N-H ciasia H-0-H
ciasiel sdi M2l B.

sret (R) : N uzniel uid Qs ioiasrs sdsgiol 424 . AR ifSUYel U A oigsrRs vAsidl Y
8.
(A) A 1 R it 1l 8. 24l sk R [Qar AL il angdl »ud 6.
B) A i R tid wal 8, uig sra R [Qut AL 02l anodl suug -l
(C) A w8, uig R g 9.
(D) A 21 R oid w2l .
qaiet (A) A - R oiqd 210 6. FHi s1e0 R (B AL 2ol amedl 20t 9.

.6. 1'\']

H/lafg,o H H 107\ H
H

spi-asel spi-asel

3. [Gena (A) sre (R) w0 AsRd 8. ARD [Asa wie 5 dal oA ealen yvor vaor 21 :
[Gguct (A) : wellon viepii 28al A (-OH) ciepii ueri (O-H) oia dia [gdla (0-H) cia disar e ol
Alsdell @32 ud 8.
srel (R) : ilsaAvoiocl oiyell [addla aiciazenii (0-H) oiet qzan ugl uer S1g $sR adl oeil.
(A) A 21 R it 0l 8. 24l sk R [Qart AL il angdl »ud 6.

B) A i R tid wal 8, uig sra R [Qut AL 02l anodl suug -l
(C) A w¥y 8, uig R i 9.
(D) A i1 R 6id w2l ©.

qast (D) A > R oid w2l 9.

o qE (@ s Hy,O 2agMl 8 (O-H) ofn si-enedlnl yedl asin -l

w1 5128 0 (O-H) ol gl Wy R O (dilSie)dl suselsyd @gdly valaw uddidl ¥q aHin
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